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Result: Sample RUN12/28-1/4
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BG Simulation in G4 alpha from drift plate
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BG Simulation in G4
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BG Simulation in G4 alpha from Rn progeny in CF4 gas
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alpha ray head—tail method (1)

FADC in Po-210 run

Select good waveform
Peak search
Rise, fall time determine
Each integration calculation
Likelihood factor determine with
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alpha ray head—tail method (1)

common event select condition
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Head-tail method applied to Sample RUN
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Head-tail method applied to Sample RUN
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Summary until 9 Jan.

- Sample run (12/28-1/4) was analyzed.

- NAC<0.90 a/cm2/hr @BG level 0.1 a/cm2/hr

- Head-tail method was developed and imported in analysis, then the sample run was
applied.
AC<0.86 a/cm2/hr @BG level 0.42 a/cm2/hr after upward track rejection
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